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Physics @ Section- ,\ (Q e I ' “)/j
0 0

1 of | m
1 A thin spherical shell jg Qh,lr . wurCL &ﬂ The m'mmum elongation of a steel wm:{ s
The potential dlITcancel ged by som oints length if the clastic limit of steel and 1ts YOU i1

e =32
ML= YLK and P (in 1) shown in g heen the 180 P° modulus, respectively, are g » 10% N m~ and

) fi ;
7__;{:' 4 Igure is: 5% 101 N m"z "y
—4-20 °(Take =9x10% gy units) (1) 4mm (2) 0.4 mm
40 = — i (3) 40 mm (4) 8 mm
) s 6 The moment of inertia of athin rod about an axis
v passing through its mid point and perpendicular -
10 o to the rod is 2400 g cm?. The length of the 400 2 7~
A 0/{' rod is nearly : ax1l v Eg
AL (1) 8.5cm () 175ecm L
e=ine A= (3) 20.7cm _(4T2.0cm
5
Mx - () 1x10 7 A tightly wound 100 turns coil of radius
() 0.5x10° (4) zero 10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take
Mnl -7 g
2 The output (Y) of the glven logic gate is sumxlar permeability of free space as 47 x 10~/ Sl units):
to the output of an/a : Ler X (1) 44mT (@)) 4 4T

A+ @ (4)

4 :})il_ AV P 4W?¢!0%P&5 A f‘ﬂ_ 4T~§812‘;I32
- ZI > Y 8 At any instant of time 1, the displacement of any
B particle is given by 2¢t—1 (SI unit) under the

§ : (3 . | influence of force of 5N. The value of

(1) NAND gate (2) NOR gate mstanlt;neous power 15('(21;1 SSI unit): g - \:%_
(3) OR gate /WﬂND gat& @) 7 @) 6 =
S\\Q ' V‘ 2 N, 0o ‘ft\iL':f__\-"'_S\
3 If the monochromatic source §oung s doukle 9 Two bodie§ A an.d B of same mass undergo
slit experiment is replace hm, light, thep completely inelastic one dlm-r:nsmnal _collision_
, > The body A moves with velocity v, while body B
(1) interference pa ill digappey. is at rest before collision. The velocity of the
(2) there will be a central dark fringe surroungeq system after collision is v,. The ratio v, : v, is ;
by a few coloured fringes: P12 (2) 2:1
W will be a_central brigh; 1»;«_hitc fringe (3). ‘&l @ 14
. . coloured Iringeg
surrofmdc.q -by a fe\.‘;lcbc EaanAl witi 10 Ahorizontal force 10 Nis applied to a block 4 a5
(4) all bright fringes Wi ' shown in figure. The mass of blocks A4 and B are
"y | . 2kgand 3 kg, respectively. The blocks slide over
4 In a vernier calipers, (N + 1 di\'lsllons of Vernjer a frictionless surface. The force exerted by block
scale coincide with N divisio™ 0 :::L'll Scale, |p Aonblock Bis:
I MSD represents 0.1 mm, the VETHIET Congtap : -
(incm) is : F=10N ——1 .B
; I _ 2kg J kg
( ) __1__ (2) m ITTT7TT77772 777777777 77777
10N (1) zero (2) 4N
65 so0m @ MO ) 376N @) 10N

5 )
Q4 Engligh | w f’l ) N U\QSD
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3. Gxm ~_ 4
1o A %*

th 1, > 14
that of the carth and

S half that of the ¢
O gravityon (hat pl
M

arth, The
anet is :
(2~ 9.8 i g2

%1

da‘ﬂ’ly? 92 ms2

¢ following §titements Aand B and
Correct answep : B - T\

g-a
-\
LD’I

]
)

{
L

(‘\‘
d

- "“
'For a solar-cell, the:l+V characteristics lies
in the IV quadrant ofithe given graph.

NN £« 15
In a reverse biased ';'m Junction diode, the

current measured in (uA), is due to majority
charge carriers. A S

. m 4%
%A is correct but B isiipcorrect. —
}M is incorrect but 1‘3:;3 correct.
N

V€ 2
(3) Both A and B are correct.

X
/‘{%’5

~ g 44
V/Both A and B are irzl-??rrect_ ‘&\? -

1088

(6 -

A light ray enters through : it angled prism at

'nbt P with the angle idence 30? as shown

PO:" are. It travels throgh the prism parallel to
e I:Iygse IIB’C and emcrgcé _zfllong the-face AC. The
;::Sf'ractivc index of the p'_rjfm is: ’ e
\5in 307 =M Sin 45
L L
A
RESA

L

-

2

13

17

(1)

(3)

-

04_gnglish |

. -
% ;;-—if_i |
(,B m I&J_HQ.-—-‘ 1 :.4
: 4 - P
oo . 10~
‘ == = — - =
! 3 t —“%! 2
jiven hclo“.;
Eili'l“"“c'“ | -Irll“" statements : [ 85
‘I ::\' contajy - Oms are clectrically neutrd
r .
- nali " g number of positive a
pegallve chﬂrgc[i :
ateme ;o OF il
5"‘::"]“'::1 I'l' I“F.”j of each element are stabl
o hiohr - Mraceristic spectrum,
In the light of - : s

; ¢ ahpve statements, choose
most appropriy,

: i jven
bel answer from the options g!
selow : '

Both < (0
oth Sl:llr::mt:ﬂ_t [ and Statement Il ar€

correct,

(2) Both Statement [ and Statement I aré
incorreet,

(3) Statement | i§'dorrect but Statement II is
incorrect,

(4) Statement | is[};imect but Statement I is
correct, U\

_ '{ijl

A thin flat circularf;{gc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is0.07 Nm~!, then the excess force
required to take it away from the surface is :

SOARBnN ) 1@ 198N o o,
0y TosmN/ [~ (4) 9N
N D S
& leo |0 N
. 3 —" L » ,0
(= A
¥ Zx88x 45
= =10
y 15 e Z A 44 x4d
Solenoid- 1 I{,‘; Solenoid -2 T{S?""“

In the above diag{ilm,. & strong bar magnet is
moving towards sojagoi-2 from solenoid-|. The
direction of induced gurrentin solenoid- 1 ang that
in solenoid-2 "cfllpc“""'l)*- are throug the
directions: e
(1) Apand D€
@) Apand CP
™)
A particle moviné With uniform speed i

path maintains =

() Baandcp
) BAand pe

Circulap

(1) consta ToITUY:
-~ aceeldtation,
(2 pstant E00

3

(3) constant Vel l‘y but varying aceelg

(4) varyin® velagity-and Varying aceele

fation,
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Match List T with List I

List I
List 11

(Spectl‘ﬂl Lines of (Wil\'clcngl|I5 ("m))

Hydrogen for

transitions from)

A. m=3ton=2 L 4102
B. m=4ton=2 1. 43;1_1
C. m=5tom=2 L. 6563
D. my=6ton=2 IV. 486.1

Choose the correct answer from the options given
below :

(1) A-IL, B-I, C-IV, D-III
() A-IIL B-IV, C-II, DI
(3) A-IV, B-III, C-1, D-IT
(4) A-I, B-II, C-TII, D-IV

The quantities which have the same dimensions
as those of solid angle are :
. e &

N
§Z§
(3) strain and arc @Q

(1) strain and angle

(2) stress and angle

(4) angular speed and stress

An unpolarised lighit beam strikes a gass surface
at Brewster’s angle. Then

(1)
2)

the reflected light will be partial ly Polariseq,

the refracted light will b€ Omplete]y
polarised. ;

both the reflected and refracted light wilj
completely polarised.

the reflected light will b® ©©Mplete|
polarised but the refracted BN will g
partially polarised,

Q4_English |

21

22

23

@)

Given below are two statemeye. one is labelled .
as Assertion A and the Other is labelled as 1
Reason R.

Assertion A : The potential (y) at any axial point,

at 2 m distance(r) from the centre of the dipole

Of dipole moment VCCIGr _‘I; of magni[ude‘

4%x1065Cm,is +9x103 .

9
(Take =9x10" g1 ypits)

4dn g

2P

dreyr

Reason R : V=% 5, where r is the
distance of any axial point, situated at 2 m from
the centre of the dipole.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both A and R are true and R is the correct
explanation of A,

Both A and-R. are true and R is NOT the
correct explanation of A.

A is true but R is false.

A is false’but R is true.

(3)
@

A-wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown. which one of
the following options is correct (P and O are any
highest and lowest points on the wheel, ,
respectively)?

P

o
Point P moves slower than point Q.
Point P moves faster than point Q._
Both the points P and Q move with equal
speed. '
Point P has zero speed.

(M
(2)
3)

“4)
If x =5sin (m + %)m represents the motion ofa
particle executing simple harmonic motion, the

amplitude and time period of motion, respectively:

are
() Scm,2s
(3) Scm,ls

(2) 5m.2s
@) smls

[ Contd...
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. ollowj Uit Provides the na unifory, el
NE trugy, table - ¢ output ¥ as per the | 28 acedle pergy "Wetic ficld 0r0.049 T2 m'ourls o
"---_._.__‘__.._._ SSCCOHdSaS Mg 20 cnmplclc OS(E[”:“.I of[he
*-:{__B__ Y “L‘cdle iS 9-8 :0\\-'“. Tha fiioHient Urlncn!:]ude 3
010 |1 magnetic m, 1)-6 kg m2. ”‘t[-]c ma%i5 Amzi
OfL|o hen the Valyg Cntof the needle is X *
Or‘x!- 5
1 011
Thee . - ___l_ I U ::- N
0 Xpression for the output Vis : §___‘:::n
AB+3 il s
G) 3 ) AB+4 5 553 2
8 (2) 128n
25  Ifei _ _ 2
Cisthe Velocity of light in free space, the correct (3) 0n () 1280 2

sta
tements aboyt photon among the following

are : )
A wire of lenoth <7 g e 100Q 8
A. The energy of a photonis E=hv. 2 ivided i ngh.“P and yesistane g are
B.  The velocity of a photon i divided into 10 ¢quq| parts. The first 5 part .
ty of a photon is ¢. connected in serjes while the next 5 mes :e
C. Themo _hv - connected in paraljel; The two combinations = |
mentum of a photon, p = - again connected in'series. The resistance of this .'
D. In a photon-electron collision, both total final combination js: :
energy and total momentum are conserved. - (1) 26Q (2) 52Q i
E.  Photon possesses positive charge. 3)e 55Q ¢ 4 600 '
Choose the correct answer from the options given ), @
below : 30 Match List-I with List-IL. .
(1) AandBonly List-I - List-II f
(2) A,B,CandD only (Material) (Susceptibility (X)) l
(3) A, CandD only . ) I 5z =0 i
(4) A, B,D andE only Q A.  Diamagnetic - !
. : z ; \Q B. Ferromagnetic I 0>3=-1 -'
26 A bob is whirled in a horizont ne by means .
of a string with an initial spé&f of ® rpm.The C. Paramagnetic I x>>1
tension in the string is Z\Qspeed becomes 2 ® D. Non-magnetic - IV. 0<y < € (asmall
wh_ile keeping the sar@ius, the tension in the : positive number)
E::;mgrbecomes : @ I Choose the correct answer from the options given
below:
@ = (4 2T (1) A, BIL G-IV, DI
4 (2) A\;ll, B-I’ C-[[l, D"IV
27  The terminal voltage of the battery, whose emf'is 3) AL B-II, C-1, D-1V
10V and internal resistance 1 Q, when connected 4) AV, Bl C-1l, D-1 "
through an external resistance of 4 Q as shown et 18 5 ¥ %3
.. e - =
in the figure 15+ 3. 200, 2 Y——Z £ pP-C o
82,X 0 . g Q.6
I the puclear emission stated above, the Mass
st and atomic number of the product 0
res ecti\’cb" are : ;
([)p 280, 8! }_(2) 286, 80
5 [ Colltd
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Physics : Section-B (Q

36 Iftheplates ofa parglel G I
| to a battery are T
3 moved ¢y, ‘9&;,[r
ariation of 4

.

The graph which shows ¢, o

3 A.  the charge storeq ; in i Uy g,
ineti i ' B.  the energy storeq ; i, e th .
and its kinetic energyo£ s (\Vh% " Brﬂgl'e C. its capacitance. Inj erease e
wavelength of a freQPartlcle) A is D. the ratio of chancmag1 dses
l"v-... l rge t()
. : the same, Mg,
QY E. the product of char A rep. iy
() 'l'z' @) L Choose the most appmgeaﬂd e
i 0 5 options given beloy: anneff% "
0 Eo o E (1) A,BandEg 0n1 i om th,
R P B, DandEonly (4) A, ndgo,ﬂ}
1 onl
(3) 2 ) 4) Ili' 37 Al0pF Capacitor is Connegt
3 source as shown ip figure !oa.?.I{W, 50K,
o——EL) T E SO Tepek oy
P o -+ the circuit is nearly (r= 31, nt ir
™ N ' +(= ' |
33 Inanideal transformet, the turpg Katio i L= -
ha) N, 2 C=10pF|
The ratio V;: V,, is@qual to (the gymbols carry -
their usual meanfng) 7 —@— :
JUARE: @ 2:1 el0F. 30z
3 1:1 M@ 1:4 (1) 0.584 (2) 1934
o 1 (3) 1204 (41354

3 A thermodynamic i§ystem is §qken through the

cycle abeda. The wiork d the gas alongthe | 38 A force defined by F = o/2+ftactsonapartck
19 . path bcis : =¥ -

03§’ VAN at a given time £ The factor ‘-‘-‘hi_Ch I
}f T $&§ = U‘O 0;9 dimensionless, if a and { arconstants, Is-
_ ' | /
300 kPa ) o Jc. L. s B% > %
100 ' ) ) :;/ K
B 0 P < b . @ of
Lo Q (3) opf :
100 cm3 ‘:lg_?uﬂ ' [eTVCUF‘fSOf
3 The f 1low-nggrﬂpl”epff’““' erature and J
20 ,(*)/ Zero q;f ' 2 g | gas (wl here T is the temP* p, and P3
(48] 2) 30J | an idea ¢ three press ures - I n_preaenled
®) 90 L ' the vc.lumt’:)a cles's VY
84y —60J compared Wit ith those of CharE l“?
B

Inthe followin

b geircuit, the e ulvalent capacitan,
etweep termina| 4 and tengmal Bis: c;
2 (] \ =
d .,:3 2uF JE_ - %L)f 1
O I A R EE
Fﬂ g 4
2urF Y
Wiy SEE A
Q 3) o @) 1pF
0Spr 1
N4 o “4) 4 wF
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Q4_English ]

o |

06 ¢

B -\-_M\f;ﬂi:'\d_b
" gL o
-&Gfégi; Bt ks o
An iron by '

Itis bent a: Ofele:1gtll L ha§ magnetic moment M,

—— i middle of its le.ngth such that the

magnetic mo, an angle. 60° with each other. The
1ent of this new magnet is:

) M M

© 3 /]

s
Lt B

ft\Paralle] Plate capacitor is charged by connecting
' toa bfmer:y through a resistor. If I is the current
in the circuit, then in the gap between the plates :
(1
@)

3) 2Mm

there is no current.

displacement current of magnitude equal to
I flows in the same direction as I.

(3) displacement current of magnifude equal to
I flows in a direction opposite to that of I.
(4) displacement current of magnitude greater
than I flows but can be in any direction.

A " metallic bar of Young’s modulus,
0.5 x 101N m=2 and coefficient of linear thermal
expansion 1073 °C-!, length 1 m and area of
cross-section 10~3 m? is heated from 0°C to 100°C
without expansion or bending. The c&@pressive
force developed in it is: Q

(1) 5x103N
(3) 100x 103N

(2) 50 3N
4) \SgQ
&Q
N
Choosp the correct cirttiit which can achieve the
bridge balance.

103N

(2

45

46

“""‘--_. “-:-w

The velocity( . onof
: ~ti the mot10
body is sho, 4 0rmc (1) plot of th
W

o2 vims)

t(s) —

The acceleraon (a)time (£) graph that best suits
this motiop js .

T £
O Ty @ TrTe—o
E £
S
3 o P ts)>

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifyiﬁ‘g' power of telescope for viewing

a distant object is:
(1) 34
3) 17

(2) 28
(4) 32

The minimum energy required to launch a sate]ljte
of mass m from the surface of earth of mass s
and radius R in @ circular orbit at an altitude of
2R from the surface of the earth is: :

s5GmM 2GmM
(1) %R @ 3%
—@_ﬁ:{ GmM
() 2R 3R
[ Comd_._
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47 If the mass of the bol in g o
increased (o thrice its orj ‘il Simple lmﬂfhl

is made half'its origin o+ Mass and its
; Bth, thep (he ne®

um 12

|¢:I1L,llh

al |p ime
ll‘l‘Li] (im

period of oscillation is L{}li el (INC
. 12, 'Mes jts origin®
period. Then the value Of i js:

M V3

& &
@ 243 @, 4

48 Asheetis placed on a horizopgg surface in front
of a strong magnetic POI&. A force is needed t0':
A. hold the sheet ther€jif it js magnetic.
B.  hold the sheet theteif it i non-magnetic.
C. move the sheet Eﬂiv“ay from the pole with
uniform velocity ifit is conducting.

D. move the sheet Ei\i‘}}ly from the pole with

uniform velocity if1t'is both, non-conducting
and non-polar.

C_hoose the correct statement(s) from the options
given below: i

L |
(1) BandDonly )
(2) AandConly ,:‘
(3) A, CandD only i\; ®
(4) Conly - \Q

33
49  Two heaters A and §’e power rating of | kyy
and 2 kW, resp ely. Those two are firg

and then in parallel to a fiyeg

~ connected in s$
power source. The ratig' 6f power outputs for hege
two cases is: Y

1y 1:1 @) 2:9
3) 1:2 @ 2:3
)

50 The property which is ’h%'t of an elcclromagnc“c
wave travelling in free space is that :
(1)
(2)

they are transverse jn nature.
the energy densil;}jn electric field is ¢ ual
to energy density il magnetic field,

,

. I

i ] =
they travel wi ~qual 1o -
Y ith a %pccd eq m <.

3)
(4)

.. ¥ 8] :
they originate from charges moving wiy,
uniform speed.

Q4_English |
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51  Among Group 16 elements, whi

show —2 oxidation state? “Hi one does N(
(1) O (2) s,
(3) Te (4) by
i ]
52 Match List I with List 1.
- List I | "l;igt“
(Molecule) (Number 4pg types of
bond’s between tye
carbon atoms)
A. gtha‘rﬁ‘,’ " I one g-bond and
g Sl two x-bonds
B. ¢thene II. “two z-bonds
C. carbon 1II. “one g-hond
molecule, C, > .
D. ethyne IV. {one g-bond and
(= &~ “one 7-bond
Choose the correct answerfrom the options give
below: " . 0

() A-L, B-1V, C-I1, D-III
(2) _A-1V, B-11I, C-II, D-I
~37 AIIL B-IV, C-IL, D
(4) A-IL BV, C-1, D-IT)
53  Fehling’s solution ‘A’ is ]
(1) aqueous copper sulphate
(2) alkaline copper sulphate .
(3) alkaline solution ofj sodium potassium
tartrate (Rochelle’s salt)
aqueous sodium citrate
(¥}
54  Match List I with List i)
List I ™ List 11

(Conversion) (i (Number of .
< Faraday required)

4)

A. 1 molofH,0to O, L 3|f

B. | molof MnO; to g 2F
Mn2* :

Cc. 1.5molofCa from n. i
molten CaCl, "

D. | mol of FeO to Fe,03 Iv. SF

{ ions giver
Choose the correct answer from the options &

slow: i
}T) A-I1, B-1V, C-1. D-111,
2) A-ll, B-1V, C-1, D-_l;_l‘
3) A-l11, B-11, C-l, D_I-Y.
4) A-lL B-1V, C-1I, D-1

8
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59

56

37

R

ldentify the &6

about :
the followmg transformation.

: CH:’-‘({:_I"I-*-CH.,—»
- CHa
@“C”rCHrcno

M @ Hom*
(1) CI‘OLE'EE
® 0w
v
- (1) PC@D
(3 O BHj~
QY -
) 1,07/GH

(iii) alk{KMnO,
(iv) H0®
(4) () H,OM*
(i) PCEr,
[\_
Intramoleculag%,\__l_ilydrogen bonding is present in
NO, S
)’L)/ @i H' K\Q
oH ; @
' NO, Q)§
N
&Q
M
NO>
(3) Q/ fe
(]
HO "-r-.j.l
4) HF 1)

L

(2)_H0

Activation energy of any chemical reaction can
be calculated if one knows the value of
rv

Ll 3
_(~ rate con stant at standard temperature.

(2) probabili'ty of collision.

E -
3) orientati;}[_l‘ of reactant molecules during
CO"iSionU\:
‘rate constant at two different temperatures.

4

Q4__English ]

rect reagents that would bring

9

Ast 1.
[Jiﬂt I (C(] )
ey List 11 (Type ©F
isomerism)
(v
Co(NH
: 3).(Nou ry
A [ )5( O%‘)j(ﬂz [. Solvate
N isomerism
g
B. [Co(N‘fa)s(so4}]b, o Linkage
isomerism
Y i
C. [CO(NH3)6] [C!}(%:N)ﬁ] [1I. Ionization
I~ isomerism
0
D. [C°(Hz°)ﬁ}ﬂf3’ IV. Coordination
\& isomerism
Choose the correct ariswer from the options given
below:
(1), “A-II, B, €31V, D-1
(3 AdBanEIV, DI
3y A-L, BV, G-I, D-II
(4) A-I, B-IV, €HIL D-1
&<
@

59 1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCl solution, the mass of sodium
hydroxide left upreacted is equal to

Y (2) 250 mg
mg = g
(1) 750mg
(3) Zeromé g (4 200mg
“'“;“51
W

60 e the following elements in increqg;
oAr:jr:: gFeIcctroucgunv ity: asing
N, 0, F G S
éhoosﬂ the corrcpr_pnmcr from the optiong givep
below: o :
iy GPRERN IO

< O<N<F
2) si<¢ <O <F
<N €€ <Si
) Odr N ¢ < Si
< i
“ F<°
l Cﬂntd---

Match Liﬁ'l\,,-
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1 List | with List 11,

Matcl
List I List 11
(Process) (Condigions)
A [sothermal L. No heat exchang®
process ,
B. lsochoric IL. Carried out at
process Constant temperatu™
C. Isobaric L. . Carrieq out at
process Constant volume
D. Adiabatic V. Carried out at
process Constant pressure
Choose the correct answer from the options given
below:

(1) A-IV, B-III, C-II, D-1
() A-IV, B-II, C-III, D-I
(3) A-L, B-II, C-III, D-IV

})/ A-I1, B-I11, C

IV, D-L
Which one of the following alcohols reacts
instantaneously with Lucas reagent?

62

(1) CH,-CH,-CH,~-CH,0H

@ cHy-cH,-cH-0H
CH, §\
&
O
() CH,-cH-C
ity
CH,
4) CH3 - (:I ~0OH
CH,

63 The energy of an electron in the ground sgy,

fn =1)for He" ion js _x J, then that foranelecqr,
In n =2 state for ge3+

ioninJis:
(1) -x X

(2) ~3
3) ~4x 4

(4) -g*

Q4_Engjisp, ]

10

64

65 o

66 ..

67

The ¢
it Iompound that will underyq <. 1
1 the fustesy raqe s =

(1 Qf\l,, @) Q~nr
Br CH,
) ©/ (4) @)\Br

react

The Hen s ‘

ases (o r)é, s glw'constant (Ky) t:a!ues of thres
, B, -) In water are 145, 24105 gz

:.’;S kbar, respectively. The solubility of these gase:

n water follow the order: ol

(I) B>A>C
(B) A>C>B

@) B>C>A
4) A>B>C

Which plot of In k vs + is consistent wiz

Arrhenius equation?
L :
1 = @ 2
; % =t T
T
ol :
= —
3) = ¢
( . + o / T

i icia, K and K
In which of the following equilibrid: Np
are NOT equal?

)7 PClsg = PClyy + Chw
@) Hypthe = 2He

+Hyp

4) 2BiCly = Brg™ Chio
[ Contd.~
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69

70
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Given below
Statement |
pentanes follows the order

N-peéntane > isopentane > neopentane
Statement 1y ; When branching increases, the
fnolecule attains a shape of sphere. This results
n sr.naller surface area flor contact, dl-ll’; to which
the intermolecular forces between the spherical
mc?lecules are weak, thereby lowering the boiling
point.

In the light of the above statements, choose the

Most appropriate answer from the options given
below:’

are two statements:

_{—Both Statement1 and Statement Il are correct.

(2) Both Statement I' and Statement II are
incorrect. :

(3) Statement 1 is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is
correct,

1

* The boiling point of three isomeric

Match Lig Lwit /
List T (Reagg; "'t List I1. ents
“lion) List II (lejfcﬁtion)
m 0
A <:>:O--> L ' l\CII’
2 A
Dfu ] dAlCI3
o Anhyd.
0 .
E:f:
B. @ﬁ@Jb% II. CrO;
OH
C. U ‘*O’O 111, KMnOy/
A
m KOH;
CH,Cy
D. @ T, 0 IV. (i) O3
ook b
N (ii) Zn-H,0

Choose the correct amgwer from the options given
below: 5[-I
(1) A-IV, B4, cafifb-n
(2) A, B-l, C-1I, D-IV
_ABY AV, B4, C-I1, D-1II
(4) A-l,B-V, C1t, D-11I
M

The reagents with which glucose does not react | 72 Given beloware tw@"_‘eme“!s: 68 of
to give the corresponding tests/products are Statement I : The boiling point of hydrides
: Group 16 elements follow the order
A. Tollen’s reagent | H;0 > HyTe> HySez HyS.
B. Schiff’s reagent , Statement IT : On he basis of n*!qlecula_r mass,
H,O is expected to have lower boiling point than
C. HEN \Q® the other members of the group but due to the
D. NH,OH Q,S’\ presence of extensive H-bonding in H,0, it has
higher boiling point.

E. NaHSO; %§ p ’ lrigthe light of the above statements, choose the
Choose the correct opti om the given below: coprect answer frontthe options given below:
(1) BandC 2) AandD (1) Both sxgtemengl jand Statement llI are true,

dE (4) EandD (2) Both Statem.engal.and tatement [ are false.
(3) Ban o 3) Statement 1 is true but Statement II is false,

| (4) Statement s false but Statement I is true,
In which of the following processes entropy ®
increases? ' 73 Forthe reaction 2Aig2 B+C, K =4x 1073, Ata
A. A liquid evaporates to vapour. given time: the composition of reaction MiXture -
B. Temperature of a crystalline solid lowered o : A]:[B]=[C]=2><10-_3N'1 )
from 130 K to 0 K. Then, which of the fql’lf)}wr}g is correct?
2 NaHCO3 —NayCOs + COypt Hzo(g) ’Reaction is at ?j[illlbrlul‘l‘l.

c. 233: . s ug;/réaction has st{ndency to go in forwarq
D. Clyg™ (® . . - . ootion.

2(g) rrect answer from the options given dlrE‘:t'con has a%'ndency to goin b :
Choose the cO & 3) Ret 87 n backwarq
below: ' o I

’ s - jon has t ionj
(1) Aand C (2) A,BandD @) Reaz:}gg gont to completion jp forwarg

' direction:
(4) CandD ’

3) AC and D

. / -6 - é
" ﬁ/f‘l"é ;Tr; =4 [ Coni)
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74

75

76

71

Match List Iwith List .

List 1 Lisu
Quantum Number Infory, 1 "
A.omy " Ation prov ]
B. m Sape of orbitdl
1 TSz of orbital
¢ * Ofientation of

Orbita] _
L * Orientatjon of spif

of electron

Choose the correct answer from the options give

below:
(1) A-lL B-1II, C-II, D-1v
(2) A-II, B-IV, C-1, D-I1

A3y AL, B-1V, C-II, D-.

(4) A-L B-1, C-IV, D-Inl

A compound with a molecular formya of CeHy4
has two tertiary carbons. Its IUPAC name is:
(1) n-hexane

(2) 2-methylpentane

(3) 2,3-dimethylbutane

(4) 2,2-dimethylbutane

On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for ‘the
purification of such solid sul@wes based on the
above principle is kno

(1) Crystallization gi,%‘ )
(2) Sublimatior\g‘b- ‘

(3) Distillatio
(4) Chrom@phy

IS:

CH,

8 |
2 ) CH
(2) u|3 H\C”2/|”
3

The most stable carbocation among the following’

12

78  Given below are two statemeny..

, 2

80

81

Statement I : Aniline dogs
Crafts alkylation reaction,
Statement I1 : Aniline canng
Gabriel synthesis.

In the light of the above Statemen,
correct answer from the options o
(1) Both Statement I and Statement [ are tru
(2) Both Statement I and Statement ] are fals

Matement [ is correct by Statement ||

false.

5t undergg frien

the prepared throy,

ts. choose
Ven bf:ln'u.‘,

(4) Statement I is incorrect byt Statement I
true.

Which reaction is NOT a redox reaction?
(1) Zn+CuSO, - ZnSO,+Cu

(2) 2KE€I0;+1, » 2 KI0; +Cl,

(3) Hy+€lL » 2HCl

(4) /BaCl, + Na,SO, — BaSO, +2 NaCl

Match List [ with List II.

List I List I1
(Compound) (Shape/geometry)
A. NH; . Trigonal Pyramidal
B. BrF; II.  Square Planar
C. XeF, Ill. Octahedral
D. SFg IV. Square Pyramidal

Choose the correct answer from the options give
below:

(1) A-l, B-IV, C-II, D-II

2y A-l, B-1V, C-III, D-1

(3) AL, B-1V, C-1. D-lI

(4) A-Il, B-lIL, C-IV, D-1

Arrange the following elements in increasin
order of first ionization enthalpy:

Li, Be, B, C, N | N
Choose the correct answer from the oplions give
below:

(h Li<Be<B<C<N

(2) Li<B<Be<C<N

(3) Li<Be<C<B<N

(4) Li<Be<N <B<C

[ Contd:
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I

82

83

84

85

"Spin only»
y Magnetic moment j
i entis same for whic
ey fol_lowing e § same for whicly
A, Tid+ B. Cr
4 r<t
C. Mp2+ D. Fe2+
E. §¢3+ -

Choos i .
€ the most appropriate answer from the

OPLIONs givey pelow:

/Q')'/é and D only

(2) Aand E on[y
(3) B and C gnly
(4) Aand D only
The E° value for the Mn3+/Mn2+ couple is more
positive than that of Cr3*/Cr2* or Fe3*/Fe2* due
to change of
(1) d° to d* configuration
(2) d° to d? configuration
(3) d*to d3 configuration
(4) d to dS configuration
The highest number of helium atoms is in
(1) 4 mol of helium
(2) 4uofhelium
(3) 4 gofhelium
(4) 2.271098 L of helium at sg%g
»

Given below are two stat@ls :

NS .
Statement I : Both [&Q(NH:,')J \ and [CoFé]
complexes are octahedral but differ in their
magnetic behaviour.

e
Statement II : [CO(NH3)6] is diamagnetic
-, .

whereas [CoFﬁ] is paramagnetic.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement [ and Statement Il are true.
(2) Both Statement | and Statement I1 are false.
(3) Statement L is true but Statement Il is false.
(4) Gtatement | is false but Statement I1 is true.

87

88

13

15

(N Ceht ang .
@) Celt g 24
(@) Gd* and gy 3+
(4) Pm¥ and Gy 3+

Given belgy, are

o certain cations. Using inorgani®
qualitative gy,

ysis, arrange them in increasing
group Numbe, from 0 to VI.

3+
A. Al B. Cu2*
C. Ba2+ D. C02+
E. Mg

Choose the correct answer from the options given
below:

(I) B,AD,C,E
(2) B,C,AD,E
(3) E,CD,BA
(4). (E;A,B,C,D

Major products A and B formed in the following
reaction sequence, are

OH
HQ A pBr
3 A alc. KOH B
(majr) (major
Br
H]C HJC
(1) a= » B= @
Br
1,6 H;C
@ a- L O
OH OH
“]C Br IIHC
3) A= y B
OH 0
e Br 1LC
; B=
@) A Ej
[ C()ntd
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89

90

91

92

l
: ; 1cl'|,
ersiple isol! oC

12

1|crt‘-'

The work done dnring rey
expansion of one mole ¢

"I“]
from pressure of 20:‘1;11105
’ Lo
is:

il; ]

(Given R = 2.0 cal E(;‘,l mol~1y ?V =
(1) d
)

Wdrogen gas?
ph(’.‘[‘e to 10 mmOSI

0 calorie & w =
—413.14 calories
L)
413.14 calories
100 calories (")
Ky

Identify the majop"product C formed in the
following reaction §équence ‘

» NaC
CH,-CH, -CH,-18 2N
AL
OH™ , B —NaOH

Partial hydrolysis ~ Br ¢
2 (major)

il"w‘f'!
propylamine ()
butylamine ™

)

ey
(2
)
(4)

butanamide "
o— bromobutq:i}ibic acid

; o Q’&
The Pmducm Aand B ob%%d in the following
reactions, respectively.

3ROH + PCl; -3 A
ROH + PCls— HHCI+ B
(1) POCI; and H,PO;

(2) POCI, and HybO,

(3) H;PO, andPOC],

(4) H;PO; and POCI,

9.6487 A current Ih[(! 1gh a voltmeter COnlaining
copper sulphate solution for 100 seconds jg:

(Given : Molar mads of Cy : 63 g mol™,
IF=96487C) ™

() 3.15¢
() 315g

L'J.
0n () 03158
W@y 0.03158

Q4__English |

93

94

95

96

97

14

B= 32 .

b= 90 1 2= L

gy o OF 4
(= A-1
T L

A compound X contains 329,
remaining percentage of - flo A 20, of §,,
formula of X j¢7) - the emp;
(Given atomic fifaises 0FA=gy, '

(1) Achz [ (2) ‘3:40:(‘:]1
‘ ABC -
ARG o @) md

=1

During the prCf;ir'ltion of
e Mohr*
(Ferrous ammonjum Sulpha(::; ’ T]l oluti
following acid is 2 Wi gy
Fe2* ion‘g e addedtaption) hydrolys;
(1) dilute hydfoechloric acig
(2) concentrated sulphuric aciq
(3) dilute nitric-acid
(4) dilute sulphuric acid
_ i
Identify the correctanswer,
A
(1) Three resonance structures can be drawn f:
ozone:
BF5 has.non-zero dipole moment.
Dipole moment of NF; is greater than th:
of NH;. ()
Three canonical forms can be drawn fc
CO%“ iont ™
N
The rate of ;i'“’]'reaction quadruples whe
temperature ‘changes from 27°C to 57°C
Calculate the energy of activation.
Given R =8.314 J K~ mol, log 4 = 0.6021
(1) 38.04 ki/mol
(2) 380.4 kJ/mol
(3) 3.80 kamg:
4) 3804 kJ/mol
4) 4

(2)
)

4)

For the given nf:i‘g%tion:
L~

T s po
(H—c=au BAnO,H” P

(major

[!I D” product)
‘Pis
(1) CI—[Q
@ O-cf)
OH[~OH
> O-oth-0

[ Contd:
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i

Ly

98

The plotof Osmotic pressure (1) vs concentration

R R

potany ' Seq
W 135)

d-free,
mol [ =1 — g lawns. By, Y Bardeners to prepare wee .
ilopelis 1 ;‘or a solutri}ln gives a straight line with o pmm;: danllagc is caused to grass a5 aux!
i o2 L bar mol™". The temperature at which /‘((2) pmmwesaplcal dominance. nly:
SMotic pressure measurement is done is: (3) does n:s abscission of mature leaves © o
(Use R =0.083 L bar mol-! K-) plangg  “Tect mature monocotyledo™
4) ca .
() 37°C 2) 310°C @ oroge P in cell division in grasses: *7
Ce
(3) 25.73°C ) 12.05°C s,
102 :;:Er]::r;‘y molecules of ATP and NADPH f}:g
. < y . Or eye (9] ﬁxed n
99  Given below are two statements : Calvin cyele? ry molecule Of CO,
3+ (I) 2 molecyles of ATP and 3 molecules of
Statement I : [CO(NH3) 6] is'a homoleptic ' NADPH
- O{JJ i! molecules of ATP and 2 molecules of
+ . ADPH
compl i ;
PISR. ‘Wherses [CO(NH3)4 Clz] s (3) 3 molecules of ATP and. 3 molecules of
heteroleptic complex. NADPH
_ /(4)' 3 molecules of ATP and 2 molecules of
3+
Statement IT : Complex [Co(NHs)ﬁ] has only NADPH _

o . ‘ ; 103 In the given figure, which component has thin
one kind of ligands but [Co(NH3)4 Clz] has outer walls and highly thickened inner walls?
more than one kind of ligands. . _

In the light of the above statements, choése the
correct answer from the options given.below:
«(1yBoth Statement I and State I are true. _ i :' _
(2) Both Statement I and St nt II are false: “C 2 D
(3) Statement I is true bu\@tement II is false. 3) A 4 B |
(4) Statement] is fi I@&t Statement II is true. .
% 104 Match List] with List I1
100 Consider the following reaction in a sealed vessel A. Nucleolus L. (S);:[Zlo”(])'n?:ﬁon

s ; A ‘ [ glycolipi
at equilibrium with concentrations of —— Il Organization like
N, =3.0 x 103 M, 0;=4.2 x 10-3M and * the cartwheel

" 3 ucoplasts IIl. Site for active
NO =2.8 x 10— M. C. Le ribosomal RNA
=N +0 , synthesis
ZNO(S) 2(g) "~ 2e) D Golgi IV. For storing
i . . » ratus nutrients

1f0.1 mol L™ of NO, is taken in a closed vessel, aI:l:; the correct answer from the optiong gi\’en-
what will be degree of dissociation () of NO(g, Cho ” _

i - belo 1, B-IL C-IV, D-1
at equilibrium _ A'”; B-11I, C-I, D-1V
(1) 0.00889 (2) 0.0889 (@ 1, BV, C-I1, D1

3) -J, B-lL C-1II, D-IV

3) 0.8889 4) 0.717 (4) g e

15
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105 Identify the type of flowers bas
of calyx. corolla and androe,
the ovary from the given ug},

(1) (@) Epigynous; (b) Hypﬂg}’nous

(2) (a) Hypogynous; (b) Epigy
_(3)"(a) Perigynous: (b) Em,gyn;ous

(4) (a) Perigynous; (b) Perigynoug

!
106 Match List I with List II -

List I sy List 11
A.  Rhizopus L. ;Mushroom
B.  Ustilugo II. “"Smut fungus
C. Puccinia [ll.  Bread mould

D. Agaricus IV. Rust fungus

Choose the correct answer'from the options given
i

below:

(1) A-IIL, B-II, C-1V, D-E*~
(2) A-L B-lII, C-1I, D-IV %/
(3) A-lL B-II, C-1, DIV #
(4 AIVBIIICIIDI’
) Q®
107

actinomorphic flower?
(1) Datura
(3) Pisum

&) (vCassia

&Q (4)§ f.§'esbanm

108  Identify the set of correct statements

A. The flowersof Vuh’rsuerm are colourful gnq

produce nectar,

.
|

B.  The flowers of w. aterhfy are not pollinateq

by water.

C. In most of water-pollinated species, {hg
pollen grains are protected from wetting,
D.  Pollen grains of some hydrophyles are long

and ribbon like. EEY

E. In some hydrophytes, the pollen grains gpe

carried passively mslde water.

Choose the correct answer from the options give,

below:

(1) C,DandE only =
(2) A,B,CandDonly
(3) A,C,DandE only

(4) B,C.DandE only

Q4_English |

ased o the P‘”Iuoo
Cium yyjy respee!
es (a) and (V)

Which of the follown@ s an-example of

16

109 A pink flowered Snapdragon ply

110

111

112

with a red flowered Snapdrago, " Wag CTogg,
of phenotype/s is/are expected ; ingh, hay by,

(1) Only red flowered plants "fﬁgcnp
(2) Red flowered as well as pmkﬂ
(3) Only pink flowered plants Weted plan-1

(4) Red, Pink as well as white lowegeq

“Ted plan
Formation of interfascicular cambjy al
developed parenchyma cells is an gy, ‘L’\Lﬂh
(1) Differentiation

'_(2)- Redifferentiation - :3(:1
(3) Dedifferentiation )
(4) Maturation

’
Match List I with List I1 :”’
List I ListIr, .
A. Two or more L Back o
alternative '1'
forms of a gene r;}
B. Cross of F Il Ploidy 0
progeny with =
homozygous
recessive parent
C." Cross of F, 1L Allele vy
progeny with ' 13!
any of the parents ~

D. Number of V. Testerosy

chromosome e
sets in plant ()

Choose the correct answer from the optionsghe"
below:

(1) AL, B-II, C-IIL, D-1V

(2) AL B-I, C-III, D-IV

LY ALl B-1V, C-1, D-I ")
(4) A-1V, B-IIl, C-11, D-I i)
ark
Which of the following are reqllﬂ'erj i Le;i
reaction of photosynthesis? g
A.  Light o
B.  Chlorophyll \P
C. co,
D. ATP
E.  NADPH B
Choose the correct answer from the opuonf,ﬂ,
below: !_”
(1) A, Band C only *_é
(2) B,CandD only if
(3) C,DandE on ly _.iJ,
(4" Dand E only | C;;flfd"'
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L; 2 A

?M

1 7
Given belyyy are two statements:

Statement | . Chromosomes become gradually

visible under light microscope during leptotene
stage.

Statement I1 : The begining of diplatene stage is
recognized by dissolution of synaptonemal

complex, o,

In the light of the above statements thoose the
correct answer from the options given' below:
Aty

(1) Both Statement I and Statementt:;ﬁ are true
(2) Both Statement I and Statement II are false
(3) Statementl is true but Statement ]I is false
)49” Statement 1 is false but Statem%ﬁ?ll is true

. Y
A T
Spindle fibers attach to kineto¢hores of
chromosomes during 1

L

A2)- Metapha?’é
(4) Telophase

(1) Prophase
(3) Anaphase’
1
What is the fate of a piece of DNA cgl:}ying only
gene of interest which is transferred r_nﬁo an alien
organism? 3
A. The piece of DNA would l@;&l&t}) multiply
itself independently in@‘proge,r}y cells of

the organism. Q\
B. Itmay get inte@ed into the genome of the
recipient. o .
C. It may multiply and be inherited-along with
the host DNA. f
D. The alien piece’of DNA is noif integral
part of chromosome. F“ |
E. It shows ability to replicate.  ¢¢;
Choose the correct answer from the options given
below:
(1) A and B only £7)
iy
(2) DandEonly e
(3) BandConly o\
d E onl <
(4) ASICRoRy 2.4
W iy

Wi

17

118

Thet elrﬁict.ose Present in the growth medium of'
PR S ransporteg to the cell by the action of?

/w/g @ alactosidase

(2) ACetwase

(3) Permegge {‘2
(4) P°]Ymerase t(:;;
)

€0

Given below are two statemehts:

Statement I : Parenchyma is living but
collenchyma is dead tissue. (7}

1y
Statement II : Gymnosperms,lack xylem ve_sse.ls
but presence of xylem vessels ‘i.s::!he characteristic

of angiosperms. e

.
In the light of the above stat{i';gents, choose the
correct answer from the options given below:

(1). /Both Statement I and Statement 11 are true
(2) - Both Statement I and Stﬁ%nent 11 are false
3) Statement | is true but Statement 11 is false

0o .
4 Statement I is false but Shtgtement Il is true
o

' poo A
Which one of the following is not a criterion for
élassiﬁca-tion of fungi?”

: W Morphology of myce'liu?},]

Mode of nutrition Igl

@ ~

119

de of spore fonnationl X

: <
04}
W0

(3) Mo
@ Fruiting body

a plants black seed color (BB/Bb) is dominant

::1 erpwhite seed color (bb). In order to fing out

Hiok enotype of the black seedplant, with which
fcthe following genotype will you cross jt9
o ,

" gy B PRy
4) BB/B
3) Bb 4) s b

\6)

l Cﬂntd...
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Tropical regi cies
120 Tropical regions show Breatest gy of S°
richness because

A. Tropical latitudes have remained rcmtichY_
undisturbed for milliong of years, [1enc®
more time was availap|e for Species
diversification.

B.—Tropical environments are onal.
> - More seas
w solar energy Is available in tropics:

D. Constant environments promote niche

specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer from the options given
below: '

M,@;D and E only

(2) AandB only
(3) A,BandEonly
(4) A,Band D only

121 These are regarded as major causes of l;iodiversity

loss:

A. Over exploitation «—~ sQ\Q&

B. Co-extinction ¥ §Q§

C.  Mutation \X~ \Q(b- .

D. Habitat loss an@gmentatiov
E.  Migration ¥ '

Choose the correct option:
(1) A,Cand D only
(2) A, B, Cand-Donly

(3) AsB-andE-onfy
A,Band D only -

122 A transcription unit in DNA is defined Pri'“ﬂrily
by the three regions in DNA and these are wij,
respect to upstream and down strcam end;

(1) Repressor, Operator gene, Structural gene
(2) Structural gene, Transposons, Operator gene
(3) Inducer, Repressor, Structural gene

(4)  Promotor, Structural gene, Terminator

Q4_English |

18

123  Hind Il always cuts DNA moleculegy ,

 point called recognition sequence 4y ::::Th
of: Si,
(L Sop (2) 6bp
Q) 4bp (4) 10bp

124 The cofactor of the enzyme carboxypeptigase .
(1) Zinc (2) Niacin '
(3) Flavin (4) Haem

125 Match List I with List II

List I ListII

A. Clostridium I.  Ethanol
butylicum .

B. Saccharomyces II.  Streptokinase
cerevisiae

C. Trichoderma III.  Butyric acid
polysporum

D." Streptococcussp.  IV. Cyclosporin-A

Choose the correct answer from the options given
below: '

(1) A-III, B-I, C-II, D-IV

(2) A-lI, B-1V, C-III, D-I

(3) A-llL, B-L, C-IV, D-II

(4) A-1V, B-1, C-III, D-II

126 List of endangered species was released by-
}L)/ GEAC (2) WWF
(3) FOAM (4) TUCN

The type of conservation in which the threatened

127 ’
r natural habitat

species are taken out from thei
. . e
and placed in special setting where they can b

protected and given special care is called;
g/])/!rﬁs"im conservation

(2) Biodi.versity conservation

(3) Semi-conservative method

4) Sustainable development
[ Contd...
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128

129

130

131

132

Q4 English |

o
i%y) Totipotcnc),

',(3)""Canying capaciig

The capagity,

to genery : "
cell of the generate a whole pl

. ant from any
plant is calleq: )

m

(2) Micropropagatiéh

3) Diﬁerenliation{:

(4) Somatic h_\-'bt‘idiéittiﬂﬂ
£

The €quation of Verhillst-Pcarl logistic growth is
da\v = T
@ =&Y

K ] {"‘("é

From this equation, ;ﬁ_%ndicates:

(1) Intrinsic rate otn_atural increase
(2) Biotic potential*’

58]
(4) Population density
Bulliform cells are résponsible for

(1) Inward curling;é? leaves in monocots.

(2) Protecting the plant from salt stress.

o :
_(3)~TIncreased photofynthes:s in monocots.
()

(4) Providing large éi:;aces for storage of sugars.
g s

S ‘
Lecithin, a small mole@ weight organic

compound found in ng ssues,-is an example
of:

Q)]
(2)
(3)
4)

Amino acids [~
™
wil
C{:i
Carbohydrates o

Phospholipids
Glycerides

[nhibition of Succinic dehydrogenase enzyme by
malonate is a classiéliexample of:

(1)
(2)
3)
“4)

Cofactor inhib t:;(])n
Feedback inhiliition
Competitive inhibition
)
Enzyme activalligp

R

19

Given by
Slntcmen(: _ar‘“' wo statements: e
and codeqy Bt toxins are insect group sP
Stntcmemylﬂ-gt’-nc cry IAc. _
protoxin j, A ';}Bl toxin exists ava
ingestiop by 1::’ mring.‘mf.\'is. '[.lowc[oxiﬂ gets
converteq | €inscct the inactive pro

i i idic pH ©
the inseg i -.C?Clwc form due to aci

133
ific

nactive
r. after

In the l'ghl'ﬂf:ﬁ‘ie above statements, cho0s€ the

f "
correst Mswerlfrom the options given below:

(1) Both Statement | and Statement II are tru€
(2) Both Statement I and Statement I are false
®) Statement [ is true but Statement I is fals
@ Swe"{ﬂi{f is false but Statement II is tru€

134 Idef“ify the pzﬂ:f*of the seed from the given figure
which is destined to form root when the seed
germinates, 1

4

135 Which one of the following can be explained on

the basis of M__gfnde]’s Law of Dominance?

A. Outof ohe’pair of factors one is dominang
’ and the q{ her is recessive.

B. Alleles dp‘\not show any expression and both

="

the chardtters appear as such i p
enerﬂtio_&;" .
C. Factors BELur in pairs in normal diploig
- Jants. St
The discrete unit controlling arti
= character is called factor. Particulg,
g. The expression of only one of gy parey
" charactefs Is found in a monohybrid cmltal
choosethe cotféet answer from the Options gi:s.
[ -4
ow. ]
?r)l A, B and Clonly

A, C D and E only

‘—”G}/B- C and D only
g; A.B, C, Dand L

[ Congq

LT
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137

B

Botany : Section-B (Q, No.J o190
0 -

136 Match List I with List I1

139

Ay A
s

Read the following statements and ¢,

se th
List 1 List yy of correct statements: o
A. Citlilc acid L. CYioptasm In the members of Phacophyceae,
cycle A. Asexual reproducti
Glycolysis IL . ‘ = = production occurs ysya]| b
B. Glycoly x'tOChondrlal biflagellate zoospores. T
atrj e :
C. Electron I11. lnte:; brané B.  Sexual reproduction is by oogamoys method
transport Space sf'.“ - only.
system Mitochondria C. Sto'red .foo.d is in the form of carbohydrates
D. Proton "\ IV. Inne, which is eith i inari
cadifi e § either mannitol or laminarin.
- mem‘;}r::teiﬂﬁ D. The major pigments found are chlorophyll
Choose the correct answer from the options given 4, ¢ and carotonoids and xatthaphyll.
below: E.

AL B-II, C-III, D-1V

(2) A-IL B, C-IV, D-lll
(3) A-II, B-1V, C-1, D-II
(4) A-1V, B-II, C-II, D-I

Match List I with List I1

Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below: , '

(1) A,B,CandD only

List 1 List I1 (2) B,C,Dand Eonly
A HobertNlny 1. Species-Area (3) A,C,D aidE only
relationship ®. -
B. Alexandervon 1. Longterm (4) ~A,B,CandE only
Humboldt ecosystem
zﬁfilgg:'e;ltot:smg 140, Spraying sugarcane crop with which of the
C. Paul Ehrlich IIl. Global species following plant growth regulators, increases the

dive@ at about
‘ n

_ 7
David Tilman V. Rivet popper
othesis

Choose the correct an from the options given
below:

(1) AL, B-IIL, &P, D-IV

(2) A-lI, B-1, C-1V, D-1I

(3) A-l B, C-11, D1V

length of stem, thus, increasing the yield?
(1) Auxin '

(2) Gibberellin

(3) Cytokinin

(4) Abscisic acid

141 Match List I with List Il

(4) A-II, B-1V, C-II, D-I List I List 1T
: - (Types of Stamens) (Example)
138 In an ecosystem ifthe Net Primary Productivity :
I. Citrus
(NPP) of first trophic level is 0o " |0 A. Mor;o:ad:lphous oo
| i B. Diadelphous i
100x (keal m™2) yr™!, what would be the GPP P 1. Lil
i 4 hird C. Polyadelphous III. Lily
(Gross Primary Productivity) of the t : e
trophic level of the same ecosystem? D. Epiphyllous IV. China-r

(1) %(i’caf m'z) yr_'
/(?’)/ X (kcal m_g) yr_l
(3) 10x (keal m™2) yrl

3x

(keal m™2 ) yr !

Choose the correct answer from the options g1Ver
below: ‘

(1) A-IV, B-I1, C-I, D-III

2) A-1V, B-l, C-I, D-III

() A-L B-II, C-IV, D-III

(4) A-IL B-L, C-1V, D-1I

Q4_English | [ Contd--
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142 Which o the followin

regard;
garding )¢ process of replication in £.colj?

The pNA dependent DNA polymer
Catalyses poly
thatis 3° 5 5°,

(2) The DNA dependent RNA polymerase
Catalyses polymerization in one direction,
that is 5° —»3°,

3)

Catalyses polymerization in 5’ —3* as wel
as 3’ — 5 direction.

(4) The DNA dependent DNA polymerase

Catalyses polymerization in 5’ —3’ direction

143 Identify the step in tricarboxyiic acid cycle, which

does not involve oxidation of substrate.
(1) Malic acid — Oxaloacetic acid
(2) Succinic acid —» Malic acid

(3) Succinyl-CoA — Succinic acid
(4) Isocitrate — o -ketoglutaric acid

144 Match List I with List I.l
ListI | List );1\\@
A. Frederick I: G&@IC code
Griffith \‘Z»
B. Francois Jacob §§Q8cmi-consewative

& Jacque mode of DNA
. Monod feplication
c Hz;r Gobind [1l. “Transformation
Khorana
D. Meselson & IV. Lac operon
Stahl

Choose the correct answer from the options given

below:
(1) AL B-II, C-I, DIV

(2) A-1I1, B-1V, C-l, D-II
3) A-I1, B-II, C-1V, D-]
@) ATV B, C-11, D-I11

Q4 English |

& statement is correct

ase
merization in one direction

The DNA dependent DNA polymerase

147

2]

T

e Tl ., O

]dcntif‘y the ive
figure: forregy description about the &

Miﬂd pollinated plant inflorescence showing

flowers with well exposed stamens.

(2)  Water pollinated flowers showing stamens
with mucilaginous covering.

(3). Cleistogamous flowers showing autogamy.

(4)". Compact inflorescence showing complete
autogamy.

146 The DNA present in chloroplast is:

(1) Linear, double stranded

_(2)_Circular, double stranded

(3)_ Linear, single stranded
(4)HFCil;cuIar, single stranded

Given below are two statements:

Statement ! : 1 73 plant.s > some O, binds tq
RuBisCO, hence CO, fixation is decreaseq

Statement 112 In C; plants, mesophyl] ce|ls show
very little photorespiration while bupqje s

F . heath
cells do 1ot show photorespiration.

In the light of the above statements, choo

. S€ the
orrect answer from the options giyep, bel
c

Ow:
(n poth Statement I and Statement are try,
e

Both Statement [ and Statement U are fal

2) s
aiement I is true but Statement s f. |
; dlge
gatement [ is false but Statement Il
(4) 15 tr|_|e
[ C[)ntd
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Q

g Match List I with List 11

149

150

List I
A GLUT-4

List

L& l.
iy L
i'““-‘ I1.

: N
¢. Trypsin it I,

Hofmonf:
Ellzb’me
Intergeyqylar

groung substa"®®

g, Insulin

‘-.'w‘-lun

ad
L3

p. Collagen IVN

Enables gllicose
trangport jnto cells

Sh!
Choose the correct anfwer from the options given
“below: e

(1) A-V, B-L, CIL:D-II
“(2) AL BL cuer
(3) A-lL, BIL, CJ\S,DI
(4) A-III, B-IV, C-L, DL -

Match List I with I_fls}. 11
iy
List T .. ListII
I*" k* Twisted aestivation

lI : Perngyn@s flower
Cottor;/l r@
Mango” IV. Q@rgmal placentation

Choose the correc.@wer from the options given
below: ) :
()AL BV, C-I{D-III

) * o)
(2) A-I,B-IL Clli DIV
(3) A-1V, B-III, c*n: D-1

i (28}
4) A-IL, B-III, C-]V. D-
4 mamcmnl

Rose

®

Pea

0

Which of the following are fused in somatic
hybridization involying two varieties of plants?
(1) Callus L)

L e
(2) Somatic embryos

o
Mt@p]asls _
08

(4) Pollens L

Q4_English |

-A (Q
15 i '
1 Mateh List | With List g - ;
List I 4 |
List 11
A, Pleurobrachia L. Mo
B. Raduy] %
. N a L Ctenophgm
. f)mochord I OStBiChthyes
D. Air bladder IV.

. Hemlchardata
00se the correct answer fr

below : rom the options given

(¢)) A-IV, B-H, C_m’ DI

2) A
M—BICNDIH

(3) _A-L B-1V, C- ] D,]"
(4) A-IV, B, -1 D]

152 Following are the stages of cell division :

A. Gap 2 phase
B. . Cytokinesis
C." Synthesis phase
D. Karyokinesis
E. Gaplphase '
Choose the correct sequence of stages from the
options given below :
" () CEDAB () EBDAL
@) BDEAC (&) E-C-AD-B,

153 Match List I with Lis._t I:

List I List 11
Cl mon cold j i Plasmodiun
A. Com .
hoid
B. Haemozoin 1L Ty? "
Widal test [II. RhinoV!
) Alll gy [v. Dust mites
> - i jven
Choose the correct answer from the options &
below :
) A-ll, B-Iv, C-111, D-I
@) A-LBIL c-11, D-IV
C-l1, D v

/{5( A-111, B-L,

11, C-11l, D-1
iy AR { Contd
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154

o0ow>»

15

~ conduction of an action potential through the

Match List | with List 1] :

List
- 11' List 1T
L_)’? oid 5 . Fungus
‘.flshmaniaSiS// II.  Nematode
Il?mg?\'oml ; ~ L. Protozoa
. llariagiy _ IV. Bacteria
bellzc\):f the correct answer from the options given'
(1) AL, B C-IL, D-IvV
DAV, B-IIL, C-I, D-II

() A-Im, B-1, -1V, DI
(4)  A-II, B-1v, C-I1I, DI

' 155 The flippers of the Penguins and Dolphins are

the example of the
(1)
(2)
(3)
4)

Adaptive radiation- -
Natural selection
Convergent evolution
Divergent evolution

ollowing are the stages of pathway for

heart:
A. AV bundle &
B. Purkinje fibres K\Q
C. AV node @
D. Bundle branches Q>

N
E. SAnode Q

Choose the correct s@ense of pathway from the

© options given below :

2) “A-E-C-B-D

(1) E-C-A-D-B
(4)“E-A-D-B-C

(3) B-D-E-C-A

157 Which of the following statements is incorrect?

Q4_English |

() A bio-reactor provides optimal growth
conditions for achieving the desired product.

2) Most commonly used bio-reactors are of
stirring type.

. le

-ssreactors are used to produce small sca

Q. B
bacterial cultures.

(4) Bio-reactors have an agitator system,
@ an oxygen delivery system and foam control

system "

23

158

which of the
Fallopian l'lbe?0 lowing is not a componen
(I )/Ui,e[‘inef.

¢ of

159

. Statement] ‘0

160

6) I"fu“dibu]“
(@) Ampy

iven b :
Gl clow are two statements :

nthe nephron, the descending limb
of 100p of Henle s i;permeablc to water and
permeable ¢, electrolytes,

Stat-ement II: The proximal convoluted tubule
is lined by simple columnar brush border
epithelium ang increases the surface area for
reabsorption,

In the-light of the apove statements, choose the
correct answer from the options given below :
(1) Both Statement I'and Statement II are true
(2) Both Statement 1.and Statement II are false
(3) Statement I'is trize but Statement 11 is false
(4) Statement] is false but Statement II is true

Which oneof the following factors will not affect
the Hardy-Weinberg equilibrium?

(1)~ Genetic recombination

(2) Genetic drift

(3) Gene migration

(4) Constant gene pool

———

161

162

A
B
&
D

it

Which of the following is nota steroid hormone? .

(1) Cortisol

(2) Testosterone
(3) Progesteronc
(4) Clycag®

ist I with List IT :

MEE?::; List I1

_ Non_medicate.d [UD I Multiload 375

. ' COPP"’" re]easmg IUD 11. PfﬂgeStOgens
Hormone releasing IUD 1L Lippes loop

~ mplants : IV. LNG-20

Choose the correct answer from the optiong given

below

i1, B-1, C-II, D1V
(1) B, CIY. DL
@) W, B CIL DA
(3) 4 i, B-L, C-IV, D1l
4) el

[ C“‘itd.,_
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X f cock .
63 In both sexes o roa e
1 filamentous structures calleg \ a pair nf‘J o
: al gerci areP
on:
M
()
3)
“)

sent

5t segment

10" segment;y

8th and 9th segment
11t segment,< o
. .. O\ &
16}/ Match List T with Jﬁgt It: ;
ListI

i

/ : ) Listy
i A. Explrz'itory W L EXPiratory reserve
capacity Volume + Tidal
Volume +
e Inspiratory reserve
. Ly Volume
B. Functional r~ 1L Tida| volume +
residual L EXpiratory reserve
capacity 4 3 volume
C. Vital capacity ;; - Tidal volyme +
- o Inspiratory reserve
& volume
D. Inspiratory IV. Expiratory reserve
capacity volume + Residual
volume
Choose the correct Eﬁswer from the options given
below : i

(1) A-IL, B-IV, G-1; D-Ip.
() A, B, A1V, D

() AL B-L, C-f DI

4) A-1, B-I11, Ci1;
©) v g,é
165  Match List | wik In:
List I $Q List IT
A. Pons @ L. Provides additionai
2% space for Neuropg,
LO regulates posture
N and balance.
B. Hypothalamius {«q II.  Controls
- respiration and
&j " gastric secretions,
C. Medulla W&y 11 Connects differen

regions of the
brain.
IV. Neuro secretory
43 cells

tanswer from the options giy,,
e

D, Cerebellum

Choose the correc
below -
_%)fAJI, B-1I1,
2)
€)
4

B
C; D-1v
A-IIL, B-1V, €41, p.|
A-L, B-I1L, C4J, D1y
AL B, cﬂj; D-1V

166 Given below are two statemenys,

Statement I : The presence olr absy,
isnot a reli%gﬁ!e indicator ofvi,ginil: of hm:
Statement IL: The hymen is tom, d"T‘inglh
coitus onlyd €firy
In the li ghtéi the above stateme, e

correct ans@; from the optiong Bivg ;"1; the
(1) Both Statement I and Statememl

@ by,
(2) Both S_t;i}ement I and Stateme,“Ii

S i,
/(})/Statenierlt [ is true but Stateme,

llisf-glae

[ ..

(4) Staten'ggt [ is false but Sta.temmﬂiim
<

167 The following diagram showing sty
in E.coli clofing vector PBR322 Figg .

Mok of
‘X’ and“Y" genes : '

%
|

L

oy s

(1) The géne ‘X" is responsible for RSiSTﬁIE
antibiéti¢s and ‘¥ for protein 1"

the-replication of Plasmid. )
vy R
The gene *X is responsible for®™

and
the copy number of the linked DTigriﬂ" i
for protein involved in the &
Plasmiq,!

sl s i'r
(3) The geiie X’ is for protein "

replication of Plasmid and ‘1’ o
to antib_\‘i‘éjtics.

(4) Gene g\”‘ is responsible for ¥
and ‘H’: is responsible fof

i 1

ons"

" i‘-ﬂi[
it

Q4 Engligh |

resistance. W
(0
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168  Which one i th

dependent RNA
template?

¢ correct product of DNA
polymerase to the given

3’ TACATGGCAAATATCGATTCAS®
(1) S’iliGUACCGUUUAUAﬁGUAAGU3’
(2) 5’AUGUAAAGUUUAUAGGUAAGU3’
(3) 5’ AUGUACCGUUUAUAGGGAAGU3’

5 ’AIG'I:ACCG [TTATAGGTAAGT?3’
. e 3

169 Which of the following are Autoimmune

T
HEY
£

disorders? o
Myastheniagravis i
B. _~Rheumatoid arthritis # ~

Y

C £ Gout el

w3

__D—Muscular dystrophy q};
"E. Systemic Lupus Eryt]'i'éﬁ'zatosus (SLE)

Choose the most appropriate answer from the

7

options given below : "
(1) A,B&Donly  if}
‘_71/l E‘.‘rr
(2) A,B&Eonly 2
- i.%‘l
() B,C&Eonly |
3
(4) C,D&Eonly 0 \Q®
¥y g\
&
170 Match List I with List 113
List I | @ u[;lSt 1L
A. Pterophyllum 1. "'Hagfish
d
B. Myxine II. ;éaw fish
C. Pristis HI. f-“}i&ngel fish
D. Exocoetus IV, Flying fish

Choose the correct answer from the options given
below: (V) '

(1) ALB, CL DY

2) AL, B-L, C-II, DAV

(3) A-IV,B-l, G-I, D-lll;g

(4) AL B-II, C-1, DIV

Q4_English |

25

Given belg,
7k as ASSerlionaretWO statements : one is labelled

Reason R, = A1 dhe other s labelled s
AsscrtinnA : h, - . )
female'apd L;FSH av Fz!!pon ovarian follicles 11

Reason R, ydig chlg in male.

i 'GmWing;qvarIan follicles secrete
estrOp female wh‘iﬁ: interstitial cells secrete
androgen ip p, humﬂqﬁ being.

In the light of the above statements, choose the
COTTECt aNSwer from the options given below :
(1) BothAang g argrfrue and R is the correct

eXplanation of Ag) .
w Aand R dre true but R is NOT the
; correct explanation of A. )

(3) Adistrue but R i§false
(4) Adisfalse but R {true
L0

172 Match List I with List IT
List] (v ist I1
A. Lipase 1. ifyPeptide bond
B. ‘Niuclease~  II. p>Ester bond
C.~ Protease 111 (\‘M@g_@gg
D. .Amylase IV. <jPhosphodiester bond

Choose the confeqt ani@er from the options given
=1 ﬁ

below : T
() AV, -Il, C-III, D-I
(2) AL B-II, C-I1, R]V
3) AL B-Iv, C-I, Q-}ll
(4) AdV,B CILIDT

0y
. Twith List1l
List I with Listl
173 Mat(.:ht = O ListII
Lis s YD Centriole
g. gx:nvheel II. Cilia and flagella
. Ca
m .
ﬁ—/—&‘wf Chromosome
4 :
6 Cne][ite I{1V. Mitochondria
D. Sat ” correct al‘?Wer from the options given
Choose 0 :

-

M A'N’ B-Il,Q;ﬂj’_‘,:D"
-/(.Jr’/A 1BV, Cc-1, Dl
3) Al B C-1V, D11
4)

belo®*  git, G-I D1

[ Contq,,,
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174 Match List T'with List 1y .

List I

(Sub Phases of

Prophase I)
A. Diakinesis I.
B. Pachytene II.
C. Zygotene I1I.
D. Leptotene IV.

List 11

Specific
ch“l‘aclc rs)
S}'Ilaptoncnml )
Complex ronn;ﬂlﬂl'l
Completion of
terming]isation ©
Chiasmata
Chromosomes
look ljke thin
threads
Appearance of
‘Tecombination
nodules

Choose the correct answer from the options given

below :

(1) A-IV, B-IL, C-III, D-I
(2) A, B-IL C-IV, D-IIT
@A BV, C1, DI

(4) A-1V, B-III, C-II, D-I

——

175 Consider the following statements :
A. Annelids are true coelomates

B.

Poriferans are pseudocoelomates

C. Aschelminthes are acoelomat

D.  Platyhelminthes are pseu

omates
Choose the correct answer fi @he options given | -
below : ‘Z§
(1) Bonly & Aonly
(3) Conly :5@) Donly
176  Match List [ with List IT
List I List IT
A. -] antitrypsin I Cotton bollwory,
B. CrylAb _II.  ADA deficiency
C. CrylAc I, Emphysema
_D. Enzyme IV, Corn borer
replacement
therapy
Choose the correct answer from the options gy,
below : ' !
() AL B cv p.
o b IV, D-I11

H]a B‘L C"“ D-IV
B)—Adn, B-1V, C.1, p.

@ AL BV, c By

Q“__English ]

177 Match List I with List II :
List I
A. Fibrous joints L.

List 1y

Adjaceny

vertebrag, limited

mOVemem

B.: Cartilaginous
joints

II.  Humerys gng

Pectoral girdle,
rotational
movement
Skull, don’t
allow any

movement
D. Balland Knee, help in

socket joints locomotion
Choose the correct answer from the options given
below :
(1) A-IV, B-II, C-11, D=1
(2) A-L B-IIIL, C-II, D-1V
(3) A-II, B-IL,.CI, D-IV

/(,4)‘ A-II1, B-l.’ I_C_-'I‘Y}_D-II '

C. Hinge
joints

1L

V.

178 _ Three types of muscles are given as a, b and c.

Identify the correct matching pair along with their
location in human body :

Name of muscle/location

(1) (a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)

Smooth - Toes
Skeletal - Legs
Cardiac - Heart.
Skeletal - Triceps
Smooth - Stomach
Cardiac - Heart.
Skeletal - Biceps
Involuntary - Intestine
Smooth - Heart.
Involuntary - Nose tip
Skeletal - Bone

(2)

(3)

(4)

(c) Cardiac - Heart.

26,
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179

180

181

182

“Etdl List I with List 1
st
- I List 11
E' _\l}i“ S mdrome 1, qth chromosome
C- o elassemia X chromosome
. [-’i"-Tl'lalasscnua L 218 chromosome
D. Klinefelter's IV, 16™ chromosome
syndrome
Choos 0 e : :
belo(\):f the correct answer from the options given
(1) AL B-I1. C-11L. D-1v
2) A-IIL BAIIL C-1V, D-]
(3) A-IN, B-IV. C-1, DI
(4) A-IV.B4. C-II, D-111
Which of the followi g factors are favourable for

the formation of oxyhaemoglobin in alveoli?
(1) High pO, and High pCO,

{23 High pO, and Lesser H* concentration
(3) Low pCO, and High H* concentration
(4) Low pCO, and High temperture

Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)

A. Homo habilis

B. Homo sapiens

C.  Homo neanderthalensis Q

D... Homo erectus_ O

Choose the correct sequence o%@}:an evolution
from the options given belowy:

(1) D-A-C-B -A D-C
(3) C-B-D-A A-D-C-B
Match List I with List I1.;
List I 7 List I
A. Cocaine .- Effective sedative in
. surgery
i [I. Cannabis sativa
in
ol Erythroxylum

hine ; 11
IC). I;Adz:guana V. Papaver somniferum

Choose the correctanswer from the options given
below :
A-1V, B-1l], CI D-1I
A-L, B-1II, C-J1, DIV
A-11, B-1, C-1II, DIV
(@) AL BIVCIDII

(2)

27

W _English ]

3 Clu,n b L‘lm;

Ie . Aled
" .\qscr:. Wo statements ; one is labelle

l qaon R: and the other is labelled a9
Ref

(v)
crtion
# 4 Bmﬂ&’“f‘tctlmg ; during initial period

Of insans Blowth Is FLLDITIandCd by doctors for
bringing @ hegy faby.

Si
sonR:
e Cm““ﬂﬁ‘rcont'uns several antibodies

absolutely eSSEnnaI!{a develop resistance for the
new born bapy,

In the Ilght of the above statements, choose the

most aPPropriae apsyver from the options g given
below : I~

}])/Hoth AandR % correctand R is the correct
explanation of A.

| o .
(2) BothAandR atl:!e correct but R is NOT the
correct explanation of A.

(3) A iscomect bﬁ; R is not correct.

(4)- A isnot core€Tbut R is correct.
0N

a0

184" Which of the following ii|_1_c_)£ anatural/traditional

contraceptive method? -

(1) Conustmerruptps
L0y

(2) Penod1c abstipence

3) Lactational ﬂ%mrrhea

o0
Mults O

185 The“Ti p]asnnd of Agrobacterium tumefaciens

. stands for 4 ‘
) Tumour illhlllll_mg plasmid

2 T

.J)' Tumo

(4) Jemperature lndcpendem plasmid

mor indepgljﬂlem plasmid

r mducfng plasmid

[ Contd...
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187

188

Zoology : Section-B (Q. No, 186 nﬁﬁ
]

186  Match List I with 1 js¢ Il:

I:.lst I . List I )
A. Exophthalmic L gy nof
voiter NCess seeret® o
gol co”is“]. m(m“ fa
YPerp|ycemid
B. Acromegaly I, )“poil{i;:clit‘“
e
OFthyroid "oﬁnoi‘l
and stypqed grovt™
C. Cushing’s I11. Yper secre;i‘?“
svndrome Uf‘thyroi d hormone &
L Protruding e)_.ebaIIS-
D. Cretinism V. Xcessjye secretion
Of growth hormore:
Choose the correct answer frop, the options given
below :

(1) A-I, B-III, C-II, D-1v
_2¥ A-IV, BIL, C-1, D-I1y
(3) A-ILBAV, C-I1, Dt
(4) A-IIL B-IV, C-I, D.I1

Given below are two Statements -

Statement I : Mitochondria and chloroplasts are
both double membrane bound organel]es.
Statement I1 : Inner
is relatively Jess p
chloroplast.

In thelight ofthe above statements, choosethenogt
appropriate answer from theoptions givenbelgy -
(1) Both StatementIang %gtement H.are correet

(2) Both Statemen;{\% d Statement are
incorrect.

37" Statement I,§Eorrect but Statement | j

incorrect QY
is incorrect but Statemen | is

Regarding catalytic Cycle of an enzyme aq;

on,
select the correet sequential steps :

A.  Substrate €nZyme complex formation,
B. Free €hZyme ready to bind with anathe,
Substrate,

C.  Release of Products,

D.  Chemical bonds of the substrate broke,,

E. Substrate binding to active site.

Chloose the correcy answer from the options Bive,
Clow :

(1) E, A, D, C, B

189

190

Match List [ with Lis¢ y rel
of cockroach.

List I

e tog,

i
'r.--.

liy I
'r.
! 3}2?1

The structures useqd I

for storing of fooq.

Ring of 6-8 blind I,

tubules at junction of r

!

foregut and midgyt,

Ring of 100-150 yellow Iy

Gt

coloured thin

L
pe,

filaments at junction of
midgut and hindgut,

The structures used N g,
for grinding the food. o

Choose the co
below : '

(1) ALV, B-IL, 1L, DT
(2) A-L, B-II, C-III, D1V

M_—_{_V_,_ﬁl}ﬂ C-II, D-I
(4) A-III, B-I1, C-1V, DI

rrect answer from topins e

”»
‘ - \1\'.1‘[!"
The following are the statemens™
chordates :

A.  Pharynx is perforated by gillsi*
B.  Notochord is absent.

C.  Central nervous system is do!
D.  Heart is dorsal if present.
E. Post anal tail is absent.

o falll llh.l

: sl
Choose the most appropriate am
Options given below

(1) A&cConly
(2) A, B & D only
G) B,D&Eonly’

4) B,c&D only b
|[
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e o T, S

ol ChOOS‘t? the correct st
regarding juxta medulla

(M

atement given below
ry nephron.

Juxta medullary nephrons are
columns of Bertini.

R .
l_enfll corpuscle of juxta medullary nephron
1€$ In the outer portion of the renal medulla

Loop of Henle of juxta medullary nephron
runs deep into medulla.

4) Juxt_a medullary nephrons outnumber the
Cortical nephrons.

located in the

()

3)

192 Given below are two statements :

Statement I : The cerebral hemispheres are
connected by nerve tract known as corpus
callosum,

Statement I1 : The brain stem consists of the
medulla oblongata, pons and cerebrum.

In the light of the above statements, choose the

most appropriate answer from the options given
below :

(1) Both StatementIand Statement Il are correct.
(2) Both Statement I and Statement II are

incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but State;@nt I is
correct. SQ\Q

S

193  Match List I with ListII: \QQ)'

ist I 11
A. f;lwave I.%Q!-leart musclesare
; electrically silent.
B. QRScomplex L Depolarisation of
ventricles.
C. Twave 111~ Depolarisation of
atria.
D. T-Pgap V. Repolarisation of

ventricles.
Choose the correct answer from the options given

below :

(1) AL B-ILCAY, D-II
) AL B, C-1V, D-I
(3) AL B-IL C-I, D-IV
(4) A-1V, B, C-I, D-1lI

Q4_gnglish | 29

patch Listy,,
Lis!

‘ Mes0Zojg Etg
B. proterozie
. Cenozoi¢ iy,
D. paleozoic i,

i List 11 -

List 11
I.  Lower invertebrat€s
. Fish & Amphibia
11, Birds & Reptiles

IV. Mammals
Choose lhf’c""ﬂ:!ctanswcr from the options gIven

bclOW:

(1) ALBL ey, pary
@) ALBY ¢y, pay
(3) A-LBIL C1y, p-11
@) A-LBY C.1v, D-II

194

195 As per ABO blood grouping system, the bloqd
group of father is B, mother'is A™ and child 1s
O™. Their respective genotype can be

meAini RN (A

B IBIB i
C—ABHMTIBY
D. - JAi £ e
E_ il A
Choose the most appropriate answer from the
options given below :

5 A only

(3) C&Bonly

(2) Bonly
.(4) D&Eonly

196 Given below are two statements :
Statement 1 : Gause’s competitive exclusion

princiI.Jl"-‘ states that two closely related species

competing for different sesources cannot exist

indefinitely: .
Statement 11 : According to Gause’s principle,

duringcompctition, theinferior willbe eliminated,

This may pe true if resources are limiting,
1

- '|ig|'t of the above statements, choose the

- answer from the options given below
co '

(1) Both statement | and Statement 11 are true

(2) poth statement | and Statement 11 are lalse

3) g"n;munll is true but Statement 11 jg false

Smlcnicnl Lis false but Statement 17 jg true
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197 Given below are two g, 199  Match List I with List |J

dlL"n]L\nL\ l
ist
Statement I : Bone Marroy o - ml‘o Li o Li"‘ll
organ where all blood cells jy - ;0 main I}hl 5 A. RNA polymcrasqy, &
L) ln 'l |“p 2 - - “1‘ s
are produced. !.d B. Termination of ‘ ' §
"“u 'n-\
Statement II : Both bo“e*n Marrgyy 0 ()" nus transcription N I p
provide micro envnroumentsf T ment . ) , "}"'*ﬂ'm
i Or the devel? C. Splicing of'Exoni. 1. R
and maturation of T‘]Ymphbcyt Ats) ho fagy,
i ' D. TATA box %
Inthe]mhtoftheqbovestatemems <h sethﬂ"w o S"RNA; thy:
00 . 'J‘\

appropriate answer from the Optiong gwenbﬂmw Choose the correct iaﬁrg)swer from 1he0

/(J,}/Botl Statement I dS belgw: i) o
1otatementlan tate rrect. . 2
iy eotiiaecs (1) A-IL, B-IV, C4D-III
(2) Both Statement I @nd Statement Il a1 ‘1*-\
Incorrect. -“\j (2) A-III, B-H’.Cl“s‘% D-I
3) Statement Iis corrqctgbur Statement Il 5 () AL B 1A O{ED'H
incorrect. 0 ‘ (4) A-1V, B-lII, C-I, D-I1
(4) Statement I is incorrect but Statement Il is
. .
correct. L 200 Identify the correct:?;}tion (A), (B),(), D)ty
1) respect to spermatqggnesis.
™ : 3
198 Match List I with List Il :0f {;Ji
2 g |
List I oy ListIl (3GnRH
b . I Vel .
A. Uni o
Unicellular glandular%@ Salivary glands L3 We
epithelium Q§ ' : 1 !
(? ® M © Sv
B. Compounde ium LfI:I Pancreas 1 i) !
. N '
C. Multicell . Goblet cell Androgens Focti
ultice @- ::’»IJ,H Goblet cells of L _L,\i .
glandular epithelium ""i‘* alimentary cang| ‘ Fonnationofspernﬁa?% o)
D. Endocrine glandular HIV Moist surface of {e)
epithelium buccal cavity y/(sH Leydig cells, Sertoli cells
Choose the correct answer from the options givep sperrmogenems
below : (7] (2) ICSH, Intersiltlial cells, Leydigee!®
¥
(1) AL, B-l, C-lIL, D-1V. spermiogencsis,
) A-IV, B-III, C-1, D- " ; (3) FSH, Sertolicells, Leydig cells
spermatogenes‘l‘s
(3) A-Ill, BV, C-, Du, 0l I
(4) ICSH, Leydigigells, Sertoli cel
(4) A-II, B-I, C-1V, D-lll spermatogenesis.

Q4_English | 30,
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